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Rearrangement of Sentence Questions for IBPS Clerk 

Pre, SBI Clerk Pre, IBPS RRB 

Rearrangement of Sentence 8 
 

Directions: In the questions given below, a sentence has been broken down into four fragments 

labeled (A), (B), (C) and (D) and arranged, not necessarily in the correct order. You have to find 

the correct order of arrangement from the options given below. In case, the sentence is correct 

in its original form, please select (E) as your answer. 

1. Of the World Trade Organization at Buenos Aires is anything (A) / upon 

wrecking the multilateral framework of the WTO (B) / If the recently concluded 

11th Ministerial Conference (C) / to go by, then the United States seems bent 

(D). 

A. CADB   B. DABC   C. CBAD 

D. BACD   E. No rearrangement required 

2. Assets and the proposed FRDI Bill, 2017 to pre-empt any banking or (A) / the 

finance ministry claims that the Insolvency and Bankruptcy Code (B) / financial 

institution failures will help resolve the bad loans problem (C) / enacted in May 

2016 to expedite the recovery of stressed (D).  

A. CBAD   B. BDAC   C. DBAC 

D. ACBD   E. No rearrangement required 

3. Out to various telecom companies for (A) / voice services all across the 

country (B) / rolling out mobile internet and (C) / a total of 122 licenses had 

been given (D). 

A. DABC   B. BCDA   C. DACB 

D. CBAD   E. No rearrangement required 

4. And political structure and that the fight against corruption (A) / is crucial to 

build a fairer and more just society (B) / there is no dispute about the fact that 



 

 

corruption and (C) / abuse of power remain an important aspect of India’s 

economic (D). 

A. CBAD   B. ABCD   C. DBCA 

D. CDAB   E. No rearrangement required` 

 

5. Apart from the judiciary and the (A) / legislature, the executive in a 

parliamentary (B) / democracy is supposed to (C) / be answerable to the 

legislature (D). 

A. DCBA   B. ADBC   C. BDCA 

D. CBDA   E. No rearrangement required 

6. Of the judiciary, and for India’s constitutional system of governance(A) / 

senior-most judges of unquestionable integrity, for the institution (B) / the press 

conference organized by the four senior-most judges of the (C) / Supreme Court 

presents, in many ways, a breaking point for the four (D). 

A. CDBA   B. BADC   C. ADCB 

D. CBAD   E. No rearrangement required 

7. Position, its rankings do precisely that (A) / it, nor outline a normative (B) / 

wants to inform policy, and not prescribe (C) /though Doing Business report 

avowedly (D). 

A. BADC   B. CABD   C. DCBA 

D. ABCD   E. No rearrangement required 

8. Zionism must be recognized for what it was and (A) / population of Arabs and 

denies their human rights (B) / the dispossession and the expulsion of the 

indigenous (C) / is - a colonialist and racist ideology that justifies (D). 

A. BADC   B. CBAD   C. ACBD 

D. ADCB   E. No rearrangement required 



 

 

9. Today, tough questions are viewed (A) / not just as hostile and (B) / 

unnecessary, but also as disloyal (C) /and even anti-national (D). 

A. CBDA   B. DBCA   C. ACBD 

D. DACB   E. No rearrangement required 

10. The Kollywood superstar Rajinikanth has (A) / entering Tamil Nadu politics, 

continuing the (B) / joined the bandwagon of top film stars (C) / strong nexus 

between cinema and politics in the state (D) 

A. ABCD   B. ACBD   C. DACB 

D. CABD   E. No rearrangement required 

  



 

 

Correct answers: 

1 2 3 4 5 6 7 8 9 10 

B B C A E A C D E B 

 

Explanations: 

1. 

Out of B and C as potential starters, C is a better option as B does not provide us with a way to 

form a coherent statement. 

Connectors: 

C and A: A provides information on what kind of a Ministerial Conference it was- 

C: If the recently concluded 11th Ministerial Conference 

A: of the World Trade Organization at Buenos Aires is anything 

A and D: D is the only logical connecting statement here- 

A: of the World Trade Organization at Buenos Aires is anything 

D: to go by, then the United States seems bent 

D and B: B elaborates on what the US seems bent on doing- 

D: to go by, then the United States seems bent 

B: upon wrecking the multilateral framework of the WTO 

Correct statement: If the recently concluded 11th Ministerial Conference of the World Trade 

Organization (WTO) at Buenos Aires is anything to go by, then the United States seems bent 

upon wrecking the multilateral framework of the WTO. 

The sequence is C-A-D-B. 

Hence, option B is correct. 

2. 

The only viable starter statement is B as the rest are in continuation and thus not suitable. 

Connectors: 

B and D: D elaborates on the Insolvency and Bankruptcy Code mentioned in B- 

B: The finance ministry claims that the Insolvency and Bankruptcy Code 

D: enacted in May 2016 to expedite the recovery of stressed 

D and A: The word stressed in D matches only with assets in A- 



 

 

D: enacted in May 2016 to expedite the recovery of stressed 

A: assets and the proposed FRDI Bill, 2017 to pre-empt any banking or 

A and C: 
A: assets and the proposed FRDI Bill, 2017 to pre-empt any banking or 
C: financial institution failures will help resolve the bad loans problem 

Correct statement: The finance ministry claims that the Insolvency and Bankruptcy Code 

enacted in May 2016 to expedite the recovery of stressed assets and the proposed Financial 

Resolution and Deposit Insurance (FRDI) Bill, 2017 to pre-empt any banking or financial 

institution failures will help resolve the bad loans problem. 

The sequence is B-D-A-C. 

Hence, option B is correct. 

3. 

The only viable starter statement is D as the rest are in continuation and thus not suitable. 

Connectors: 

D and A: ‘A’ specifies to whom the licenses were given- 

D: a total of 122 licenses had been given 

A: out to various telecom companies for 

A and C: ‘C’ specifies the purpose for which the licenses were given out- 

A: out to various telecom companies for 

C: rolling out mobile internet and 

C and B: ‘B’ continues where ‘C’ left off- 

C: rolling out mobile internet and 

B: voice services all across the country 

Correct statement: A total of 122 licenses had been given out to various telecom companies for 

rolling out mobile internet and voice services all across the country. 

The sequence is D-A-C-B. 

Hence, option C is correct. 

 

 



 

 

4.  

Statements C and D both look ideal as the starting statement. However, if we take D as the 

starting sentence, C does not fit in anywhere else while if we take C as the starting statement, D 

still finds a place in the statement. Hence, Statement C is a better choice- 

Connectors: 

C and D: Use of and in C implies the author has multiple issues in mind. The only statement that 

fits in is D- 

C: there is no dispute about the fact that corruption and 

D: abuse of power remain an important aspect of India’s economic 

D and A: Out of A and B, B fits in meaningfully stating that both corruption and abuse of power 

are important elements in India’s economic and political structure- 

D: abuse of power remain an important aspect of India’s economic 

A: and political structure and that the fight against corruption 

A and B: 

A: and political structure and that the fight against corruption 

B: is crucial to build a fairer and more just society 

Correct statement: There is no dispute about the fact that corruption and abuse of power 

remain an important aspect of India’s economic and political structure and that the fight 

against corruption is crucial to build a fairer and more just society. 

The sequence is C-D-A-B. 

Hence, option A is correct. 

5. 

The statement is perfectly logical in its original form and thus needs no re-arrangement. 

Hence, option E is correct. 

6. 

Statements B, C and D are choices for the starting statement. However, either B or D as the 

starting sentence does not enable us to make a meaningful and coherent statement. Only with 

C can we move forward. Hence, Statement C is the ideal choice- 

Connectors: 

C and D: D elaborates on the judges- 



 

 

C: The press conference organized by the four senior-most judges of the 

D: Supreme Court presents, in many ways, a breaking point for the four 

D and B: 

D: Supreme Court presents, in many ways, a breaking point for the four 

B: senior-most judges of unquestionable integrity, for the institution 

B and A: 

B: senior-most judges of unquestionable integrity, for the institution 

A: of the judiciary, and for India’s constitutional system of governance 

Correct statement: The press conference organized by the four senior-most judges of the 

Supreme Court presents, in many ways, a breaking point for the four senior-most judges of 

unquestionable integrity, for the institution of the judiciary, and for India’s constitutional 

system of governance. 

The sequence is C-D-B-A. 

Hence, option A is correct. 

7. 

The only viable opening statement is D here- 

Connectors: 

D and C: C states what the intention of the Doing Business report is- 

D: though Doing Business report avowedly 

C: wants to inform policy, and not prescribe 

C and B: B further continues with what the intention of the Doing Business report is - 

C: wants to inform policy, and not prescribe 

B: it, nor outline a normative 

B and A: A states what it actually achieves. 

B: it, nor outline a normative 

A: position, its rankings do precisely that 

Correct statement: Though Doing Business report avowedly wants to inform policy, and not 

prescribe it, nor outline a normative position, its rankings do precisely that. 

The sequence is D-C-B-A. 

Hence, option C is correct. 

 



 

 

8. 

The only viable opening statement is A here- 

Connectors: 

A and D: D conveys what Zionism actually is and logically follows A- 

A: The Zionism must be recognized for what it was and 

D: is—a colonialist and racist ideology that justifies 

D and C: C and B logically follow D and states what Zionism is- 

D: is—a colonialist and racist ideology that justifies 

C: the dispossession and the expulsion of the indigenous 

C and B: 

C: the dispossession and the expulsion of the indigenous 

B: population of Arabs and denies their human rights 

Correct statement: Zionism must be recognized for what it was and is—a colonialist and racist 

ideology that justifies the dispossession and the expulsion of the indigenous population of 

Arabs and denies their human rights. 

The sequence is A-D-C-B. 

Hence, option D is correct. 

9. 

The statement is correct in its original form and does not need to be rearranged. 

Hence, option E is correct. 

10. 

Fragment A serves as the beginning fragment- 

Connectors: 

A and C 

A: The Kollywood superstar Rajinikanth has 

C: joined the bandwagon of top film stars 

C and B: 

C: joined the bandwagon of top film stars 

B: entering Tamil Nadu politics, continuing the 

B and D: 



 

 

B: entering Tamil Nadu politics, continuing the 

D: strong nexus between cinema and politics in the state. 

The correct sequence is A-C-B-D. 

Hence, option B is correct. 
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